
1. (4 pts) Carefully (i.e. using estimates from tangent lines) plot the derivative function f'(x) ~~ th~ v V \ 
following plot off: 

Graph of the function f 

-1 I 

I I_, 
-2 

You may invoke any properties off to simplify your work. 
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2. (a) (4 pts) Consider the function f ( x) = l - 4 x + x3• Below you see its graph. Use the limit defini­ 
tion to find an algebraic expression for the derivative function f'(x). 
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2. (b) (2 pts) Add the graph of f'(x) onto the graph above, and explain why the derivative makes sense -- 
how does it correspond to the behavior off? 
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I 2. (b) (2 pts) Add the graph of f'(x) onto the graph above, and explain why the derivative makes sense -- / 
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2. (a) (4 pts) Consider the function f ( x) = 1 - 4 x + x3• Below you see its graph. Use the limit defini- 
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2. (b) (2 pts) Add the graph of f'(x) onto the graph above, and explain why the derivative makes sense -­ 
how does it correspond to the behavior off? 
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